{4

¥

Vol. 5 No. 1

begin A[J, I:=A[L, J]; B[J, Il:=—B[L
J] end
end READ and FORM HERMIX MATRIX;
if AN=0 then go to LABEL 3;
READ and FORM HERMITE MATRIX;
HERMITE MATRIX PRINT;
LABEL 2: A plus Bi type JACOBI;
EIGEN VALUE PRINT;
UNITARY MATRIX PRINT;
CRLF;
go to LABEL 1;
LABEL 3:
end
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POWER METHOD:
begin integer n, m; real eps;
READ(n) ; READ(m); READ(eps);
begin integer i, j, k, h;
real w, SQ, delta, lambda, sigma;
array x,y,ull:n], A[l:n, 1:n];
switch sw 1: =normal, trans;
switch sw 2: =result, prep;
procedure INNERPRODUCT(p, 2, b, r);
integer p; real a, b, r;
begin real s; s:=0;
fof p:=1 step 1 until n do s:=s+axb;
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r:=s
end INNERPRODUCT;
start: for i:=1 step 1 until n do
for j:=1 step 1 until n do READ(A[], i1);
h:=1;
for i:=1 step 1 until m do
begin
st1: x[13:=1.0;
for j:=2 step 1 until n do x{jl:=0;
st2: go to sw1lh];
normal: for j:=1 step 1 until n do
INNERPRODUCT(k, A[j, k1, x[k], y[il);
go to test;
trans: for j:=1 step 1 until n do
INNERPRODUCT(k, ATk, j], x(k], y[il):
test: if y[11x0 then
begin lambda: =y{1]; w:=1.0/lambda;
yi11:=1.0; delta: =0;
for j:=2 step 1 until n do
begin y[jl:=ylilxw;
delta: =delta+abs(x[j]—y[il)

end ;
for j:=1 step 1 until n de x[jl:=ylil;
go to st2;
prep: INNERPRODUCT(], uljl, y[jl, sigma);
lambda: =lambda/sigma;
for j:=1 step 1 until n do
for k:=1 step 1 until n do
ATj, k]: =A[j, k]—lambda x ufjl x ylkl;
h:=1;
go to stl;
result: sigma:=0;
for j:=1 step 1 until ndo
sigma: =sigma+y[jl12;
SQ: =sqrt(sigma); SQ:=1.0/5Q;
for j:=1 step 1 until n do ufj]:
=y[i1xSQ;
CRLF; PRINTSTRING(*i="); PRINT(i);
SPACE(3);
PRINTSTRING( eigen value=");
PRINT(lambda) ; CRLF;
PRINTSTRING(  eigen vector’); CRLF;
for j: =1 step 1 until n do
begin PRINT (uljl);if (j+6)x6=j then
CRLF
end;
h:=2
end i loop
end
end





